DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 1)
DIVISION WITH -10 TO 10

Name:

Time:

Score:

901 —36.8 = (=8) =
w2 33252 + 4 —

393 —=T7795 +1=

30 3219 + 1 =

99 7632 = (—10) =
306) —11360 <+ 8 =
000 —4911 + 3 =

w9 —5131.2 + 6 =
19 9305 + (—=5) =
w00) 7268 + (—8) =
o) —402.08 = (—8) =
02 —254.7 = (=3) =
03 —14590 + (=5) =
0y —397.3 + (—1) =

05 64.07 + (—1) =

Mathematics: Division - Level 6 - Horizontal - Set 1
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—431.48 = (=7)
—29.14+ 1 =
—2086.8 + 4 =
—390 + 3 =
—5863.5 + 9 =
488.11 + (—7) =

53.86 = (—1) =

—326.6 = (—1) =

—544.95 + (=7)
—923370 = 10 =
886.8 = (—6) =
76712+ 8 =
14112 + 9 =
—4213 10 =

699.2 -8 =
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